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Time allowed : Three Hours

Maximum Marks : 100

Part A (@UE ‘31 [Marks : 20]

Answer all questions (50 words each).

‘All questions carry equal marks.
gyt gvT siffard €1 FE® F9T # S TErd
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Part B (@US ‘H) [Marks : 50]
Answer five questions (250 words each),

selecting one question from each Unit.

All questions carry equal marks.

g% HE @ Uk 99 g9 EU, F[ET Uie §¥T FHifQ)
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Part C (@0 ‘W) [Marks : 30]

Answer any two questions (300 words each).

All questions carry equal marks.
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Part A (@UE ‘37

What do you understand by optimum capital

structure ?

ST a1 ggfea dsh EXe ¥ e
T € 2

Distinguisil between risk and uncertajn‘gy.
Sifem ws Afafy=am & "% =R SaEd |
What is scrip or bond dividend ?

fep =1 o4 e g 2

Distinguish between monetary and non-

monetary movement of gold.
ol = HiftE w routfe afafata @
7y o fafem 1.

What is fixed parity system ?

wﬁﬂwm@waﬂm%7
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(vi) If real interest rate is 5% and the inflation
rate is 8%, what would be the nominal

interest rate ?

IR arafa® =W w5 ghwm ¥ ek ey
X 8 Wfaer 7, o TifRd =AM X @ A

(vii) What are the three motives behind holding of

cash ?
T T B A e o (s w
g 2
(iii) What is red-clause letter ;)f credit ?
A T T T T E ?

(&x)  Is it correct to say that cost of capital varies
between domestic and international capital

budgeting ?

a9 ® WA G @ A e

(x) What do you mean by blocked funds ?
| STEYE HI W oF ol €2
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Part B (WU ‘®)
T Unit I (38 D) TR

Describe the decision tree approach with the help of
an example. How is this technique useful in capital

budgeting ?

@Wﬁm@ﬁﬁhqa%ﬁaﬁml
%ﬁﬁ%ﬁwﬁmmww%?

What eonsiderati-ons woﬁld you keep in mind
while drafting a financial plan for an industrial
concern ? Are there any iimitations to financial plan?
;Explajn. :

s St e W o TeET S wHE S
fp_fr wal @ eIE H T 7 w1 famia A
# FH AN § 7 wEERT |

Unit 1T (FFE 1D

Ritu Ltd. was started a year back with a paid-up
equity capital of ¥ 40,00,000. The other details are as

under :



fig waéqﬁﬁr@oooooov F Tl -GSt ®
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Earning of the company S 4 00,000
Dividend paid . % 3,20,000
Price-earning rate ° | 12.5
Number of shares 40,000

You are required to find out whether the company’s
dividend payout ratio is optimal, using Walter’s
formula. .
Waﬁmﬁﬁﬁ@&ﬂﬁﬁgaﬁm%ﬁ
T FHE T SN A ST ST T2

What is the concept of Balance of Payment ? Explain
the structure of Balance of Payment.

&Hﬁﬁﬂﬂ??ﬁmmw%?wé@qaﬁ
A 1 A IS

Unit III (3R IID

Explain the functions of International Monetary Fund.
How far has it been successful in fulfilling its

functions ?

w’r@ﬂgmﬁqﬁaﬁﬁwﬁq1waﬁ
mﬁﬁqmmﬁﬁ?ﬁﬁwgﬂ%?
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What is meant by foreign exchange rate ? How is
the equilibrium rate of exchange determined under

gold standard or the mint par parity theory.

ﬁésﬁﬁﬁma@wmwﬁ%?ma(ﬁ?)
mw—wﬁmmwaﬁmwﬁaﬂ
%ﬁmawﬁaﬁm%ﬁmw%?

Unit IV (3&HTE 1IV)

How is cash need assessed ? Can it be optimised ?
Explain.

TS vl 59 Feifa =1 it & 2 w0 s
Waﬁﬁw&mwm%?mﬂl

Explain with examples how foreign exéhange risk

" can be covered in the money market.

10.
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Unit V (3% V)

Describe the costs and benefits of Foreign Direct

'Investment.

e et fafrdm & o o e
Hiferd |
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13.

How do you compute the cash flow in international
capital budgeting ? Explain.
A ol wwed wt gwn # Uk Were w0
&Y W & 2 TR | :

Part C (@S ‘W)

“Net operating income theory is quite opposite to the
net income theory.” Prove this statement with the

help of imaginary figures.

‘31 it o fagr Yo o fas & e
fadid & 1" 5§ WU W FHIOIAR THA B Werdl
¥ fos =R |

What are the ;‘sources of dividend ? Can a company
provide dividelid even if there is a loss in current
year ? If yes, discuss the provisions regarding

dividend of the Companies Act, 2013.

owiw kO o § 2 g e oAk owf @,

¥ FO ey foafid X gt € 2 3l B, a@

oY @ g R SR, 2013 % WEEE
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Discuss the role of world bank in the economic

development of India.

R @ e far § o % &1 fe w1 o
HIfeT |

What are the diﬁ"erent variants of Letter of Credit ?

How does a Letter of Credit operate ? Explain.

oE-19 % &fis TR SH-%A" § ? TH 9
9 wE B & 7 gHEsy |

Discuss the concept of cost of capital, and the
adjustments in it that are required for international

capital budgeting decision.

st 1 @ I STHEROT G STUSEE Y s
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